International Kangaroo Mathematics Contest 2009 , Ecolier 1

Ecolier: Class (3 & 4)
1. 200x9+200+9=

(A) 1909 (B) 2009

2. Where is the smiley? . /\\
i

Hinh mat cuoi dang o vi tri nao? | £\ ,
(A) In the Circle and in the triangle, but not in the square./ i.\ | & e
Trong hinh tron va hinh tam gidc nhung & ngoai hinh = 7

vubng
(B) In the Circle and in the square but not in the triangle./ Trong hinh tron va
hinh vuong nhung khong ¢ trong hinh tam giac

3. Four sticks have 8 ends. How many ends do six and a half sticks have?
Bon que tinh c6 8 dau. Haéi sau que rudi ¢6 bao nhiéu dau?
(A) 14 (B) 13



4. On the display there is a number 930 (see the
picture). How many little square lights must be
switched on/off in order to obtain number 8067
Trén man hinh hién thj sé 930 (xem hinh). Bé thu duwroc
s6 806 thi phdi bt / tdt bao nhiéu den?

(A) 5 (B) 6

5. Mom has bought 16 apples. Mariam ate half of them, Nazish ate two and
Salma ate the rest. How many apples did Salma eat?
Me mua 16 qud tdo. Mariam dn mét nia trong sé dé, Nazish dn 2 qud va Salma dn
so ¢on lai. Hoi Salma di an bao nhiéu qua tao?
(A) 4 (B) 6

6. Hina threw a dice four times and she obtained a total of 23 spots. How many
times did she get 6 spots?
Hina ném mgt con xGc xdc bén lan dwoc tong cong 23 diém. Hoi ¢b dy da dat dwoc
6 diém bao nhiéu lan?
(A)3 (B) 4



7. A movie is 90 minutes long. It started at 17:10. In the middle there were two
commercial breaks, one lasting eight minutes and one lasting five minutes.
At what time did the movie finish?

Mgt bé phim dai 90 phat bdt dau lac 17:10. C6 hai thei gian nghi quang céo kéo
dai tam phiit va nam phit. Héi bé phim két thac lac may gio?
(A) At 18:47 (B) At 18:532

8. There are 25 boys and 19 girls in the singing group. Every week 2 more
boys and 3 more girls join the singing group. After how many weeks there
will be the same number of boys and girls in the singing group?

Mgt nhém nhac ¢6 25 nam va 19 ni. M4i tuan c6 thém 2 bgn nam va 3 bgn nir tham
gia. Héi sau bao nhiéu tuan thi sé nam va nzza trong nhém hat bang nhau?
(A) 6 (B) 5

9. Naurnan was dividing a chocolate. He broke one row of 5
pieces for his brother and then one row of 7 pieces for his

sister in a way you see on the picture. How many pieces did

the whole chocolate consist of?

Naurnan dang chia mét thanh s6 ¢o la. Anh dy bé mgt hang 5 miéng cho anh trai va
bé mét hang 7 miéng cho em gai theo cach trén hinh. Héi thanh s6 c6 la gom c6 bao
nhiéu miéng?

(A) 40 (B) 35



10. A white and a black goat weigh 320 kilos altogether. The black goat weighs

11.

32 kilos more than the white goat. How much does the white goat weigh?
Mgt con dé trang va mét con dé den ngng tong céng 320kg. Dé den ning hon dé
triing 32kg. Hai con dé trang ngng bao nhidu?

(A) 144 kg (B) 176 kg

Picture X is the partner of picture Y.

Which of the following pictures is the

o] et

Hinh X két hop véi hinh Y. Héi hinh ndo sau ddy két hop véi hinh G?

partner of G?




12. One side of the rectangle is 8 cm while the other is half as long. What is the

length of a side of a square whose perimeter is the same as the perimeter of
the rectangle?

Mgt canh cua hinh chiz nhdt dai 8 cm con canh kia bang mét niza. Tim dé dai canh
cia hinh vudng c6 chu vi bang chu vi cia hinh chiz nhdt da cho.

(A)4 cm (B) 6 cm

Vd v
LA
13. Ajaz made a table from small cubes (see the /-f’ f’/-" f’/(}x‘
picture). How many cubes did he use? T %
o L ,, Tt
Ajaz lam mgt chiec ban tir nhiing khoi ldp phuong (xem /] | Co
f |
hinh). Hoi anh dy da dimg bao nhiéu khoi? | ] J lf P
(A) 28 (B) 32 L (I
14. Three squirrels Anni, Asia and Pinky collected 7 nuts. They all collected

different number of nuts, but each of them found at least one. Anni collected
the least, Asia the most of all. How many nuts did Pinky find?

Ba chl s6¢ Anni, Asia va Pinky thu thdp dioc 7 hat qud. Mdi con c6 sé wong hat
khac nhau, it nhat 1a mét. Biét Anni c6 it nhdt, Asia nhiéu nhat, héi Pinky c6 bao
nhiéu hat?

(A) 1 (B) 2



15. Which figure we can not make with the dominos?

Chung ta khdng thé tqo ra hinh ndo véi 2 quan domino nay? - .

16. A farmer has 30 cows, some chickens but no other animals. The total
number of legs of the chickens is equal to the total number of legs of the
cows. How many animals altogether does the farmer have?

Mot ngueoi ndng dan chi ¢6 30 con bd va mét sé con ga. Tong sé chan cua ga bang
téng sé chan cua bo. Hoi nguoi dé ¢o tdt ca bao nhiéu con vt?
(A) 60 (B) 90

17. A secret agent wants to break a 6 digit code. He knows that the sum of the
digits in the even positions is equal to the sum of the digits in the odd
positions. Which of the following numbers could be the code?

Mgt mdt vy mudn pha médt ma gom 6 chir sé. Anh ta biét rang tong cac chi so ¢ vi
tri chan bang téng cac chiz sé ¢ Vi tri 1é. Sé ndo sau ddy cé thé 1a mat ma?
(A) 12*9*8 (B) 181*2*



18. Ahmad collects photos of famous sportsmen. Each year the number of his
photos equals the sum of the numbers of his photos in the previous two
years. In 2008 he had 60 photos and this year he has 96 photos. How many
photos did he have in 2006?

Ahmad suwu t@p anh cia cac vdn dgng vién thé thao néi tieng. Méi nam so lirong dnh
cua anh dy bang téng sé anh trong hai nam truéc d@é. Nam 2008 anh ¢ 60 birc anh
va nam nay cé 96 buc. Hoi anh ta c6 bao nhiéu buc anh trong nam 2006?

(A) 36 (B) 24

19. The bucket contains 1 red, 1 blue, 1 yellow, and 1 white flower. Maja, the
bee, Visits every flower in the bucket only once. She starts with the red
flower, and she does not fly directly from the yellow one to the white one. In
how many ways can Maja visit all the flowers?

CO mot cdi thung dung 1 béong hoa mau do, 1 béng xanh, 1 bdng vang va 1 bong
hoa trang. Chl ong Maja chi méi bong trong thing mét lan. Biét Maja bdr dau tir
béng hoa mau dé va khong thé bay tric tiép tir bdng hoa vang sang béng mau
trang. Hoi Maja c6 thé bay dén tat ca cac bong hoa bang bao nhiéu cach?

(A)3 (B) 4



20. In the land Funnyfeet the left foot of each man is two sizes bigger than his
right foot, whereas the left foot of each woman is one size bigger. However
shoes are always sold in pairs of the same size. To save money, a group of
friends bought shoes together. After they all put on the shoes that fitted
them, there were exactly two shoes left over7 one of the size 36 and another
of size 45. What is the smallest possible number of people in the group?

O viing dat Funnyfeet, ban chan trai cia moi nguwoi dan dng 1én hon ban chan phdi
hai c&, trong khi ban chan trai cua méi nguwoi phu nit 16n hon mét cé. Tuy nhién
giay thi uén dwoc bdn theo déi cing kich c¢é. Pé tiét kiém tién, mgt nhém ban da
cuing nhau mua giay. Sau khi tat ca gidy dwoc di thi con thiza hai chiéc, mét chiéc co
36 va mét chiéc cé 45. Hai so nguroi nho nhat trong nhém 1a bao nhiéu?

(A)5 (B) 6



